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2023%F 7A% PBEEFHREBEE@OSMLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S

E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

gremz

BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 6.07|4/kWh
(1) AR B BRI 22 B i = (S 39 R BHEi4E — 37,200 ) x EAH{fi 1,000 = 6.07|FM/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.4699 AR 0.197 M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.0000
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 0.7879
FIRAFMEE = Axa +BX B +Vxy =68000H  (100AKEHMEIERA)
(2) BB L= /N—H LY —E R = (B ST HRFME —0F) x A8 {fi 1,000 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 12.28 RADTYT7ITSAREHI{E 10.28
B: BITIAREEAERM (Fitk) 8.00 BERE 7.9%
C: BhnFREEEAE Rl (Friik) 14.00 B 110%
D: #BEAE 70%
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2023%F 7A% PBEEFHREBEE@OSMLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

gremz

BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 8.42|/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 31,400 ) x E 4B {fi 1,000 = 8.42|H/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.1152 AR 0.221 /M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.2714
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 0.7386
FEHPREHEE = Axa +Bx B +Vxy =69500H  (100MREMEAA)
(2) S /N—H )L —E RFAB Bl = (B ST 19 Rl —0F) x Z#EEfH 1,000 = 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TFAREHE-(1-BRE) < AR 12.36 RADTYT7ITSAREHI{E 10.28
B: BITIAREEAERM (Fitk) 7.00 BERE 8.5%
C: BhnFREEEAE Rl (Friik) 14.00 B 110%
D: #BEAE 70%
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2023%F 7A% PBEEFHREBEE@OSMLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

gremz

BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 6.54|/kWh
(1) AR 2 BRI 22 B i = (S 39 R BHEIAE — 44,200 ) x E 4B {fi 1,000 = 6.54| M /kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.1970 AR 0.232 M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.4435
C: 1tH=YDFEH A REAdHE 43,744 [ 7! 0.2512
FEHPREHEE = Axa +BXx B +Vxy =72400H  (100MHREMWIEAEA)
(2) S /N—H )L —E RFAB Bl = (B ST 19 Rl —0F) x Z#EEfH 1,000 = 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 12.78 RADTYT7ITSAREHI{E 10.82
B: BITIAREEAERM (Fitk) 7.00 BERE 6.9%
C: BhnFREEEAE Rl (Friik) 14.00 B 110%
D: #BEAE 70%
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2023%F 7A% PBEEFHREBEE@OSMLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

gremz

BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 6.06|/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 45,900/ ) x E 4B {fi 1,000 = 6.06]M/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.0275 AR 0.233 M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.4792
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 0.4275
FEHPREHEE = Axa +Bx B +Vxy =71900H  (100MHKEWEAA)
(2) S /N—H )L —E RFAB Bl = (B ST 19 Rl —0F) x Z#EEfH 1,000 = 0.00|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 0.0000 A 0.000 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxyr=0H (100 R EEFER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 10.79 RADTYT7ITSAREHI{E 9.11
B: BITIAREEAERM (Fitk) 5.00 BERE 7.1%
C: BhnFREEEAE Rl (Friik) 13.00 B 110%
D: #BEAE 70%




EEHTI7IEE] gremz
N)a1a—F5 VTN TZVPNDEERSE

2023%F 7A% PBEEFHREBEE@OSMLE ey LRIST—

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

R EEREEMf=)REEAREM+QMELI=/\— LY —E R FREM+Q)EE H R B
= BiA 7.18|M/kWh

(1) AR 2 BRI 2L B i = (S 39 R BHEI4E — 21,900/ ) x E 4B {fi 1,000 = 7.18| M /kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.2303 AR 0.161 /M
B: 1tdH1=YUDFHLNGITH#E 106,865 M B: 0.0000
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 1.1441

EHBEER = Axa +Bx B8 +VX 7y = 66500 H (100 RBEEFRA)

(2) BB N—Y LY —E XA = (B ST HREMERE —0F) x BEB{H 1,000 = 0.00|F4/kWh
20234 2R ~2023F4 A FHD & ZfkcHitE
A: KB T=Y O F R4 71,300 M a: 0.0000 EEEER 0.000 M
B: 1t&H7=Y DT HILNGHTHE 106,865 A B: 0.0000
C: 1tHT-YDFEH A x{HEE 43,744 M Y 0.0000
BEFEHREMEE=Axa +BxB +VXr=0H (100 KEEIERA)
Q) NENFAZEM=A<BDIGE. HENFAREM=(A—B)XxDX(1+HERE) = 0.00{F/kWh
ASCOIZE . HENREBEM=(A—C)XxDx(1+HEMREK) = 0.00|F4/kWh
A BIRDIVUT7TIARFEHE-(1-18KEK) x AR 7.61 BADIVTISAREHIE 6.38
B: ETIAEELRM (Fik) 5.00 BRE 7.8%
C: BINFREEEAE Bl (FHitk) 13.00 R 110%
D: MEAE 70%
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2023% T7H%

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

MREBEFRBEEMOENLE

gremz

BRXEH T LR/INT—

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

BAD15kWhET Braa 105.68|M
L st Bia 7.05|F1/kWh
(1) AR B BRI 2L B i = (P39 R BHEIAE — 27,100 ) x E 4B {#i 1,000 = RHID15kWhET 105.68|M
202342 A ~20234F4 A TH D E B sHTEE EEELS 7.05|F4/kWh
A: 1K T=Y O TR E 71,300 [ o: 0.0140
B: 1t =YD FHLNGITH#E 106,865 M 0.3483 ~ 15kWhEE % B {ffi 2.475 M
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 0.7227 16kWh~ E£#£ B {fy 0.165 M
FEHPREHEE = Axa +BXx B +Vxy =69800H  (100MKEMEAA)
(2) S 1= N—H )L Y —E RFAB Bl = (B ST 19 RMERS —0F) x Z&EEfH 1,000 = 0.00|F3/kWh
202342 A ~2023F4 A THDE B sHEE
A: 1K T=Y O TR 1% 71,300 M a: 0.0000 A 0.000 M
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxy=0H (100 RiHmEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.36 RADTYT7ITSAREH{E 6.17
B: EITIAEE R (Fiik) 5.00 P RES 7.8%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%
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2023% T7H%

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

MREBEFRBEEMOENLE

gremz

BRXEH T LR/INT—

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

BAD15kWhET Bia 153.82|M
L st Bia 10.24|F/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 26,000 ) x EAH{fi+-1,000 = RHID15kWhET 153.82|M
202342 A ~20234F4 A TH D E B sHTEE EEELS 10.24|FH/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.1543
B: 1t =YD FHLNGITH#E 106,865 M 0.1322 ~ 15kWhEE % B {ffi 3.680 M
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 0.9761 16kWh~ E£#£ B {fy 0.245 M
FEHPREHEE = Axa +Bx B +Vxy =67800H  (100MREMEAA)
(2) S 1= N—H )L Y —E RFAB Bl = (B ST 19 RMERS —0F) x Z&EEfH 1,000 = 0.00|F3/kWh
202342 A ~2023F4 A THDE B sHEE
A: 1K T=Y O TR 1% 71,300 M a: 0.0000 A 0.000 M
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxy=0H (100 RiHmEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.37 RADTYT7ITSAREH{E 6.16
B: BITIAREEAZEEM (Fitk) 5.00 =P 8.0%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%
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2023% T7H%

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

MREBEFRBEEMOENLE

gremz

BRXEH T LR/INT—

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

BAD11KWhET Braa 88.53|M
L st A 8.06|F1/kWh
(1) WAF 2 ER 22 B i = (S 39 R BHEi4E — 26,000 ) x EAH{fi+-1,000 = RADIKWhET 88.53|M
202342 A ~20234F4 A TH D E B sHTEE EEELS 8.06|F1/kWh
A: 1K T=Y O TR E 71,300 [ a: 0.2104
B: 1tdh7=Y DFHILNGIHE 106,865 [ 0.0541 ~ 11kWhE: % B ff 2.154 /M
C: 1t&H1=Y DFEY A mEAfhitE 43,744 [ 7: 1.0588 12kWh~ E£#£ B {fy 0.196 M
FEHPREHEE = Axa +Bx B +Vxy =67100H  (100MHREMEEARA)
(2) BB N—Y LY —E XA = (3 ST HREMERE —0F) x BEB{H 1,000 = 0.00|F3/kWh
202342 A ~2023F4 A THDE B sHEE
A: 1K T=Y O TR 1% 71,300 M a: 0.0000 A 0.000 M
B: 1tdH1=YDFHLNGITH#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BETHMEMER=AXa +BxB +Vxy=0H (100 R EEER A)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KE) < HEE 7.37 RADTYT7ITSAREH{E 6.16
B: BITIAREEAZEEM (Fitk) 5.00 BEE 8.1%
C: BhnEREEELE Rl (Friik) 13.00 RER 110%
D: #BEAE 70%
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2023%F 7A% PBEEFHREBEE@OSMLE

TREENOHERERY, EWALBLETET.,
BHOBEHSICEFNIMHREAREME. TROBYSHOELET,

KB (F, B IRICKBIESIE REDHEFSFTIELHIAT.00M/kWh) Z A & FR B EMA S
E5IETHD T, HEBICTESIEZITHhETWVZEET,

onj
cu

gremz

BRXEH T LR/INT—

M BEEAREA=NREERRER+ QBB —/\—Y )L —E R B Bl +(3)ENE H 58 B B

= BHd 5.49|9/kWh
(1) AR 2 ER 22 B i = (S 39 R BHEiAE — 27,400 ) x BB {fi 1,000 = 5.43|M/kWh
202342 A ~20234F4 A THDE B sHlEE
A: kg T=Y) O F R H TS 71,300 [ o 0.0053 AR 0.136 /M
B: 1tdH1=YUDFHLNGITH#E 106,865 M 0.1861
C: 1t&H =Y DFEY A mAfhitg 43,744 [ 7! 1.0757
FEHPREHEE = Axa +Bx B +Vxy =67300H  (100MHREMEEAA)
(2) BB /N—Y LY —E XA EE = (3 5T 9 EHEE — 52,500/ ) x EEEBfi+1,000 = 0.06|F/kWh
202342 A ~20234F4 A THDE B sHEE
A 1KIET=Y O TR 1E 71,300 [ a: 1.0000 A 0.003 M
B: 1tdH7=YDFHLNGIT#E 106,865 M 0.0000
C: 1t&H1=Y DFEY A mAfhitg 43,744 [ 7: 0.0000
BESFHMEMER = AXx o +BX B +Vxy=71,300 (100AkK&HEMEERA)
Q) HENAREM=A<BDIGE. HIENFHBEM=(A—B)XDx(1+HERE) = 0.00|F4/kWh
ASCOGEE. HENRAZEB=(A—C)XDX(1+HERE) = 0.00|H/kWh
A: BTADTYT7TSAREHE-(1-18KF) < FEE 7.25 RADTYT7ITSAREHI{E 6.02
B: BITIAREEAERM (Fitk) 5.00 BERE 8.6%
C: BhnFREEEAE Rl (Friik) 13.00 B 110%
D: #BEAE 70%




